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General Instructions / Amra fdw :
l. This Question Booklet has two Parts — Part-—A and Part B.
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4. Part-A — There are 25 Multiple Choice Questions having four
options ( A, B, C & D ). The candidate has to write the correct opy
in the Answer Booklet. All questions are compulsory. Each quest;

carries 1 mark. There is no negative marking for wrong answer.

W-A — T8 25 wgfeedia s § R 4 Reew (A, B, cam b
ghemdl &1 Iwm-gferm § wdt o fre 21 wh w1 e §) e |
1 37 1 R Terd I F e 3w Frer 7@ wmom

S. Part-B — There are three sections : Section-A, B & C.

This part is of Subjective Type having Very Short Answer, Sh

Answer & Long Answer Type questions. Total number of questio

is 23.

SBection-A — Question Nos. 26-34 are Very Short Answer Tyj

Answer any 7 questions. Each question carr

1 mark.

Section-B — Question Nos. 35-42 are Short Answer Type. Answ
any 6 questions. Each question carries 3 marl

Answer the questions in maximum 150 words each

B12/10071 2/ .
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Section-C — Question Nos. 43-48 arc Long Answer Type. Answer

any 4 questions. Each question carries 5 marks.

Answer the questions in maximum 250 words each.

WM.B — 34 WM § dH @vg — wuz-A, B a1 ¢ §1 3@ ym # A @y

Jailg, g Iata aur &d Iaiy yen % Rwafe wa € $a y@ 6 g@n

23 Rl

WUS-A  — W TG 26-34 At @Y Iada &1 fR 7 ¥ & I Q)
W& U 1 3% o 8

WEB  — W GG 3542 @Y 3909 ¥ FR 6 Wi & IW 3

TS I 3 FF H Bl TAF YW A IW AUH
150 =g H <

VUE-C  — W GG 43-48 G Il €1 fR 4 vl & W &) IS
YA 5 3% &1 81 TS WA H IW Afusan 250 =

i g

| 6. Candidates are required to answer in their own words as far as

practicable.

v gureva I we F 4 3w 3|
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Draw neat and clenr diagrams wherever neccessary.

Sl smEvE B @i au we YW@ikE g

Candidate has to hand over his/her Answer Booklet to the

Invigilator compulsorily before leaving the examination hall.

uﬁmﬁwﬁanmn?g#%wgﬁamﬁm—gﬁma%maﬂarﬁm#mﬁ

wlerd |

9.

the Examination.

Candidates can take away the Question Booklet after completion of

qﬂmm‘éﬂ%mwﬂaﬂaﬁm_gﬁmnaqﬁm@mmm%:
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Part-A
H-A

( Multiple Choice Type Questions )

( agfaweda ye )

Question Nos. 1 to 25 are Multiple Choice Type. Each question has
four options. Select the correct option and write it in the Answer Sheet.

Each question carries 1 mark. 1 x25=25

¥ HE 1 ¥ 25 q% Fgiahedid THR 21 TAE WA & O9R fawen §) od fawe

TR I QR i fd |yl T 1 3 R 1 x25=25
1. 'Stop and Go' determinism is associated with

(A)  Neo-determinism (B) Possibilism

(C) Humanism (D) None of these

B312/10071 5/ 35
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TR 3N N Prowerare i 2

(A" Ta-Pregar )
P

(B) wnmEar g

(€C)  WrEEdEme
D) ¥ § 0§
Which

of the t'nllowing cconomic [;

distribution of the population ?

(A)

(B)

(C)

(D)

Avnilabilily

Urbanisalion

of minerals

I ndustrialisation

All of these

GEQ
Arty

1clors is/are inﬂucncing the
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fraferfas 8 @ 97 A/ RiE HH SHEE R H T FEa

FE & ?
(A) @i gl i Igereyd
(B) IR
(C) Nt
o wawh
3. '‘Kolkhoz' is associated with
(A)  Collective farming
(B) Truck farming
(C) Horticulture

(D) Nonec of these

7/ 35
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ne 5

AA) AfEs SR |

-

\BY = ERa
(C) saRTRY
(D) T § & 7

4. Which of the following is not a cottage industry ?

(A) Basket weaving
(B)  Pottery
(C)  Paper industry

(D) Rope making

s/
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Freerfan 5 -1 ww g el o 2 7
(A) TG T
(B) | ) a4 7d7 T
(CL—"F1TIa I
(D) Tl g= T
5.  Tourism is
(A)  Quinary activity
(B) Tertiary activity
(C) Secondary activity

(D} None of these

M12/10071 | 9/ 35
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L
A
Srrel
(A) = Brarrem
~(B) §as frmmen
(C) = Brarream
(D) T q = T
6. The Australian trascontinental railway connects

(A)  Sydney - Perth

(B)  Vancouver - Halifax

.(C)  St. Petersburg - Vladivostok

(D) None of these

(@12/30071] 10 / 3
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sferand urweTidta T g @

(A)
<

(B)

fz - oo

e - B

Mﬁz—ﬁmﬁaﬁ-m

(D)

-]
.

(A)

(B)

(C)

(D)

TTH | I8 T8I

Trade between two countries is called

Domestic trade

Qutward trade

International trade

Bilateral trade

M12/10071
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W % I AR FEA 2
_MA) IS =

(B) €& =R

.L\(C} HAOYIE =R

hypff'ﬁmﬂh:amvn

8. In which year did India adopt the 'Liberalisation’ ?

(A) 1991 (B) 1993
(C) 1998 (D) 2001

m%‘mm'ﬁ%qaﬁmmmM?
(A) 1991 (B) 1993

(C) 1998 (D) 2001

(W12/10071
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Q, Which of the following is an industrial town ?
(A) Varanasi
(B) Haridwar
(C) Jamshedpur
(D) Ayodhya

roafafaa o 8 ®F-g ataifis e e ?

(A)

(B)

o

FAR AL

(Cy THieg

(D)

-

e

®12/10071
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10,

Circular pattern of town develops
(A)  Along river

(B)  Along lake

(C)  On mountains

(D)  In plains

JerER SfaEd - fagmm @

(A) 7€) & "ER

F'\

@-(5;? HE & HEn

(C) 9dei g1

P

A e

-
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11. In recent years, number of migrants from which country was the

highest in India ?
(A) Pakistan
(B) Bangladesh
(C) Nepal

(D) Bhutan

T & 991 §, WA ¥ gaiiue qe g <u 5 yarfadi ) @ 7

(A) iR
By aienen

(C) Aura

(D) e

H12/10071 15 / 35




JAC

XA-GEO-(OPT.)-A

12, Which state of India has the least literacy rate ?
(A)  Punjab (B3) Kerala
.{C] Rajasthan (D)  Bihar
Wi % f6m T 1 e @ qad w2 g
(A) T B) =
(C)  Twum (DY Fam
/
13.

Dispersed settlements are associated with

(A)  Isolated scttlement

(B)  Compact settiement

(C) Fragmented settlement

(D)  Nonc of these

— 12/10071

16 / 3

ZI8



JAC | XA-GEO-(OPT.)-A
uftiam afral gafi 2
(A)  THER SR |
(B) Wua aftadi g
@ faifea afemdi @
(D) FH & HI3 TE

14.

Which of the following is/are the variety(ies) of coffee ?

(A) Arabica (B) Robusta

(C) Liberica ' (D)  All of these
frofafaa 4 @ #1F W1/4 Fih H fFH § 7
(A) 3Tt - (B) T=Ewm

© fEfm . B wdm
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15.  Which of the following is/arc related to the problem(s) of Indian

Agriculture ?

(A)  Small farm size

(B) [ndcbfcdness

(C) Low productivity

(D)  All of these

Frrferfian & -m/8 st F 6 Twensi @ qwafua 2 7

(A) B @q
(B) RURIEn

(c) = smEE

@,' i @ f

|- 12/10071

18 / 3



e

Water problems are probably emerging due to

(A)  Over-exploitation of water

(B) Water pollution

(C) Depletion in recycling of water

(D) All of these

T -G % I FR &

(A) S & AfuF

(B) T

(C) I & T °§ il

XA-GEO-(OPT.)-A
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17. Which state is the highest producer of coal In India ?

(A) Odisha
(B) Chhattisgarh
(C) Jharkhand

(D) Karnataka

WA | AT 1 Gi1UF IqEF T F15-81 2 7
ugl.e.}*" anfzam

(B) THmTg

(D) HARH

[® 12/10071] 20
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Asla

According o 2011 cennun, which Indiun state has the least

population #

(A} Manipn

(1) Arunachal Pradesh

((')  Nagaland

()  Blkkim

2011 # oo & St e & fai usy ) et qad) w0 R 7

(A)  wfonyge

(1Y) Swvirde wRw

() e

', [ml) {ufe
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19, Which of the following, in the non-metallic mineral ?

(A)  Micn

(B) Conl

(C) Limestone
(D) All of these

Freafafaa 8§ @ 94— Nufers wha @ 7

(A) 3w
(B)  wgen
(C) M geepy

o

A

(é(l‘))) i/ i

-~

(™ 12710077

22 /7 3



]

), Tata Iron and Steel Company (TISCO]) is situated at

(A} Ranchi

(B) Jamshedpur

(C) Bokaro

(D) Dhanbad

17 e o geaTe we (fo) fRa @

) U=
) s
) d=wH
(D) uAERH
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21. Bharatmala Projcct is rclated to which of the following ?
(A)  National Highway construction
(B) Port modernisation
(C)  Railways modernisation
(D)  None of these
WItaATen i frafefen 8 ¥ frad gafq @ 7
/62;‘/ 3 e o
(B) =CTTEl 1 sy
(C) = R IEE G

-

(D) ¥ & % 78

__-_.—___-__.__-
B 12/10071
1= 12/10071 |
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When was colour TV introduced in India ?

(A} 1982 (B) 1992

2022

| () 2002 (D)

-

T & T Teaes 1 eI g 7

(A) 1982 (B) 1992

(C) 2002 (D) 2022

23. Which of the following is/ar
Industry ?

(A) Tata Iron & Steel Company
(B) Rourkela Steel Plant

(C) Bhilai Steel Plant

(D)  All of these

W 12/10071

e associated with the Iron and Stee!
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74

Prafafige § ¥ A @/d de-soa 3dm @ wEfRa R 7
(A) T AR T T A
(B) T HeN §9IE TS
(€ fremr @ wa=

__{,i/{’:t?i‘ Wi @ i

24. Air India is associated with

(A) Internet (B) Satellite

(C)  Airways

(D) Highways
TR ¥ qafig 2
(A)  FTXRF ) g |
\CWhik (D)  Trommf §

W12/1007;
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India ?
(A) Lack of basic amenitics
(B) Overcrowded

(C) Drugs abuse

(D)  All of these

mﬁﬁwﬁﬁﬁmm%?

rffaa § @ #F
(A) wmwmaﬁﬁm
(B) it Wig-wTs

(C) TSt wgrel H I

saﬁﬁma
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Part-B

HFT-B

( Subjective Type Questions )

‘(-ﬁwﬁam)

Section- A

Y us - A

( Very short answer type questions )

(aﬁﬁgwﬂum)

Answer any seven questions, 1x7=T

ol | s 6 3§

26. What do you understand by 'Slas-h & burn agriculture' ?

WWW@QWWW% ?

[Y ST

W12/10 :
2/10071] | 28 / ¥
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27, Give two examples of cottage industrics.
FE T % § Ieww Ty |
28. What is tourism ?
T R 7
29. What is mcant by export ?
frata & = wfiom 2 7

30. Define the term "Migration”.

‘e’ w1 gfoniaa w )

31. Write down any onc sourcc of air pollution.

qrg WU 1 w13 TH T fafa |

32. What is meant by Garrison cantonment ?

g (erafl) T | w7 P R 7

M12/10071
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33. What are Rabi crops and these are the crops of which season ?

@ ) wEe w2 § qon A Rew wg A wES § 7

34. What is life expectancy ?

A v R R 7 |

Section - B

W ve - B

( Short answer type questions )

(egIufa )

Answer any six questions. Answer the questions in maximum

150 words each. 3x6=18

ﬁrgfmmﬁ%milmm?ﬂmaﬁm 150 wigj § )

35. What are communication services ? How are communication

services affecting the whole world ? '

T Fand w1 3 ?Wﬁemﬁ%ﬁmmﬁm% ?
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p Write the threc advantages of Air transport.
g Witz § 9F | faren |
37. Write three advantages of Rainwater harvestng.
91 I HIEW & W3 e fHae |
38. Describe the characteristics of compact settlement.
oA afedl ﬁmﬂmaﬁ 1 qUF I |

39.

e s frail 1 fasraansdi 1 forg |

40. Explain the main charactenstics of working population.

Frishiel e ) e fasaarat @1 9o Fi |

B12/10071

Write the characteristics of Tertiary Economic activities.

38
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41. Mention the causes of rural to urban migration in India,

Wt & 1t A T YaT % Ol g H

42. Describe the problems of urban settlements.
TR sfemt 6 arensii w aui i |

Section - C
gvg - C
( Long answer type questions )

(e Iwlmuyr )

Answer any four questions. Answer the questions in maximum

250 words each. 5x4=2

ﬁﬁﬁmwﬁ%wéimmmmmgsomﬁﬁl

43. Explain th ini i "I
P e factors determining the location of Iron and 5"-"'31--I

plants in India,

(m12/10071 | 32/ %
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15.

46.

o & e-gea 3 B R B Al FQ @ FRA A =TI

i |

Why is road transport considered to be more useful in comparison

to other means of transport in India ?

'mﬁmmﬁqﬁa@%mmﬁﬁwﬁmmmﬁ

AT @R ?

Classify towns on the basis of occupation.

H1 % IMUR T TR H i il |

Write the favourable geographical conditions for the cultivation of

rice in India.

T 3 et 3 e 3 R e i qmad ) e |
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47. What is air pollution ? Explain how air pollution is bccoming

scrious problem in India.

1 g T § 7 M G A OF DA A A T oy

e AT

48, Show the following in the given map of world :

(a)

(b)

(d)

(c)

Bangllndc'sh

Tokyo

Manchester

Moscow

Africa

A 12/10071 |
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gt i & nelte 3 Defufom w Ry .

() iR

(h) A
() M=
(d) v
(¢) sl |
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